

# A quote for your consideration!

Total: \$3,632.32

Based on your business needs, we put the following quote together to help with your purchase decision. Please review your quote details below, then contact your sales rep when you're ready to place your order.

Quote number:

3000021864186.1

Quote date:

Quote expiration:

Deal ID:

Feb. 1, 2018

6614546

Mar. 3, 2018

(956) 721-2530

12708027

Company name:

WEBB COUNTY

Customer number:

Phone:

Purchase Order:

Total:

\$3,632.32

Sales rep information:

Marlene Silva Marlene\_S@Dell.com (800) 456-3355 Ext: 5138137 Billing Information:

WEBB COUNTY

1110 WASHINGTON ST STE

203 LAREDO TX 78040-4466

US

(956) 523 - 4090

apinvoices@webbcountytx.gov

## **Pricing Summary**

Item	Qty	Unit Price	Subtotal
OptiPlex 7050 SFF	2	\$1,145.00	\$2,290.00
Dell UltraSharp 24 InfinityEdge Monitor - U2417H	4	\$235.00	\$940.00
Dell Dual Monitor Stand - MD\$14A	2	\$115.00	\$230.00
Audio-Technica ATH ANC23 QuietPoint - Earphones - in-ear - active noise canceling - 3.5 mm jack	2	\$55.03	\$110.06
Dell 2.0 Speaker System - AE215	2	\$31.13	\$62.26
		Subtotal:	\$3,632.32
		Shipping:	\$0.00
	E	vironmental Fees:	\$0.00
	No	n-Taxable Amount:	\$3,632.32
		Taxable Amount:	\$0.00
		Estimated Tax:	\$0.00

Special lease pricing may be available for qualified customers. Please contact your DFS Sales Representative for details.

## Dear Customer,

Your Quote is detailed below: please review the quote for product and information accuracy. If you find errors or desire certain changes please contact me as soon as possible.

Regards,

Marlene Silva

Order this quote easily online through your Premier page, or if you do not have Premier, using Quote to Order

## Shipping Group 1

Shipping Co JOSE LOPEZ		nipping via: andard Ground	Shipping Addr 1110 WASHING 101 PURCHASING D Laredo TX 78040 US	TON ST Suite
SKU	Description	Qty	Unit Price	Subtotal
	OptiPlex 7050 SFF	2	\$1,145.00	\$2,290.00
	Estimated delivery date: Feb. 19, 2018 Contract No: 75AHH			
	Customer Agreement No: DIR-TSO-3763			
210-AKOK	OptiPlex 7050 Small Form Factor XCTO	2	5.46	-
338-BHUH	Intel Core i7-6700 (QC/8MB/8T/3.4GHz/65W Windows 7/8.1/10/Linux	); supports 2	121	ŧ
619-AHKN	Win 10 Pro 64 English, French, Spanish	2		
658-BCSB	Microsoft(R) Office 30 Days Trial	2		2
329-BDHJ	OptiPlex 7050 SFF with 180W up to 85% effici Supply (80Plus Bronze)	ent Power 2		
490-BBFG	Intel Integrated Graphics, Dell OptiPlex	2	*	150
370-ADJQ	8GB (2x4GB) 2400MHz DDR4 Memory	2	.M	
631-ABGK	Intel vPro Technology Enabled	2	-	-
400-AOVM	2.5 inch 512GB SATA Class 20 Solid State Driv	e 2		*
401-AANH	2nd Hard Drive: not included	2	2	120
631-ABGL	Intel Ready Mode Technology	2		-
817-BBBN	NO RAID	2	*	
Page 2	© 2014 Dell Inc. U.S. only. Dell Inc. is located at One Dell Way	r, Mail Stop 8129, Round Ro	ock, TX 78682.	

325-BBRJ	DVD+/-RW Bezel, Small Form Factor	2	25.	×
429-AAJV	Tray load DVD Drive (Reads and Writes to DVD/CD)	2		
658-BBTV	CMS Essentials DVD no Media	2	*	×
555-BBKH	No Bcom required	2	100	5
555-BBFO	No Wireless	2	(a)	
385-BBCR	No Media Card Reader	2		
580-ADJC	Dell KB216 Wired Multi-Media Keyboard English Black	2	g g	
275-BBBW	Dell MS116 Wired Mouse, Black	2	*	-
817-BBBB	No FGA	2		-
575-BBGD	Bracket for 2.5 inch Hard Drive Disk, Small Form Factor, OptiPlex	2		-
450-AAOJ	System Power Cord (Philipine/TH/US)	2	÷ .	
340-ABJI	No Diagnostic/Recovery CD media	2	*	
525-BBCL	SupportAssist	2	•	
640-BBLW	Dell(TM) Digital Delivery Cirrus Client	2	*	
658-BBMR	Dell Client System Update (Updates latest Dell Recommended BIOS, Drivers, Firmware and Apps)	2		-
658-BBRB	Waves Maxx Audio	2	*	S.
658-BCUV	Dell Developed Recovery Environment	2	•9	-
340-AGIK	Safety/Environment and Regulatory Guide (English/French Multi-language)	2	1-	-
332-1286	US Order	2		
340-BKPS	MOD,PLCMT,QSG,7050,SFF,DAO	2	· ·	-
461-AABF	No CompuTrace	2	(5)	-
			Sales rep: Marlene Silva   300002186418	36.1
389-BBUU	Shipping Label for DAO	2		
461-AABV	No Accessories	2		-0
389-BRPU	MOD,LBL,REG,SFF,MEX,EPA,7050	2	• 9	•
389-BCGW	No UPC Label	2		• 3
555-BBFO	No Wireless	2	3	
389-RH IV	Intel Cara i7 vora Drassessar Labol	2		

389-BBUU	Shipping Label for DAO	2	180	
461-AABV	No Accessories	2	(4)	
389-BRPU	MOD,LBL,REG,SFF,MEX,EPA,7050	2	(*)	
389-BCGW	No UPC Label	2		
555-BBFO	No Wireless	2	-	
389-BHJV	Intel Core i7 vPro Processor Label	2		2
817-BBBC	Not selected in this configuration	2		
812-3886	Dell Limited Hardware Warranty Plus Service	2		
812-3911	ProSupport with Mission Critical: 4-hour 7x24 Onsite Service After Remote Diagnosis, 3 Years	2	e e	
812-3912	ProSupport Mission Critical: 7x24 Technical Support, 3 Years	2		
989-3449	Thank you choosing Dell ProSupport. For tech support, visit http://support.dell.com/ProSupport or call 1-866-516-3115	2	¥	
SKU	Description	Qty	Unit Price	Subtotal
	Dell UltraSharp 24 InfinityEdge Monitor - U2417H	4	\$235.00	\$940.00
	Estimated delivery date: Feb. 23, 2018  Contract No: 75AHH  Customer Agreement No: DIR-TSO-3763			
210-AHGF	Dell UltraSharp 24 InfinityEdge Monitor - U2417H	4	¥	
814-5380	Dell Limited Hardware Warranty	4	2	
814-5381	Advanced Exchange Service, 3 Years	4	·	
CIAL				
SKU	Description	Qty	Unit Price	Subtotal
	Dell Dual Monitor Stand - MDS14A	2	\$115.00	\$230.00
	Estimated delivery date: Feb. 14, 2018 Contract No: 75AHH			
	Customer Agreement No: DIR-TSO-3763			
332-1236	Dell Dual Monitor Stand - MDS14A	2		2
SKU	Description	Qty	Unit Price	Subtotal
SKU	Description  Audio-Technica ATH ANC23 QuietPoint - Earphones - in-ear - active noise canceling - 3.5 mm jack	Qty 2	Unit Price \$55.03	Subtotal \$110.06

	Estimated delivery date: Feb. 15, 2018 Contract No: 75AHH			
	Customer Agreement No: DIR-TSO-3763			
A9312549	Audio-Technica ATH ANC23 QuietPoint - Earphones - in-ear - active noise canceling - 3.5 mm jack	2		
SKU	Description	Qty	Unit Price	Subtotal
	Dell 2.0 Speaker System - AE215	2	\$31.13	\$62.26
	Estimated delivery date: Feb. 14, 2018			
	Contract No: 75AHH			
	Customer Agreement No: DIR-TSO-3763			
520-AAJS	Dell 2.0 Speaker System - AE215	2		-
			Subtotal:	\$3,632.32
			Shipping:	\$0.00
			onmental Fees:	\$0.00
			Estimated Tax:	\$0.00
			Total:	\$3,632.32

#### Important Notes

#### Terms of Sale

Unless you have a separate written agreement that specifically applies to this order, your order will be subject to and governed by the following agreements, each of which are incorporated herein by reference and available in hardcopy from Dell at your request: Dell's Terms of Sale (www.dell.com/learn/us/en/uscorp1/terms-of-sale), which include a binding consumer arbitration provision and incorporate Dell's U.S. Return Policy (www.dell.com/returnpolicy) and Warranty (for Consumer warranties; for Commercial warranties).

If this purchase includes services: in addition to the foregoing applicable terms, the terms of your service contract will apply (Consumer; Commercial). If this purchase includes software: in addition to the foregoing applicable terms, your use of the software is subject to the license terms accompanying the software, and in the absence of such terms, then use of the Dell-branded application software is subject to the Dell End User License Agreement - Type A (www.dell.com/AEULA) and use of the Dell-branded system software is subject to the Dell End User License Agreement - Type S (www.dell.com/SEULA).

If your purchase is for Mozy, in addition to the foregoing applicable terms, your use of the Mozy service is subject to the terms and conditions located at https://mozy.com/about/legal/terms.

You acknowledge having read and agree to be bound by the foregoing applicable terms in their entirety. Any terms and conditions set forth in your purchase order or any other correspondence that are in addition to, inconsistent or in conflict with, the f oregoing applicable online terms will be of no force or effect unless specifically agreed to in a writing signed by Dell that expressly references such terms.

## Pricing, Taxes, and Additional Information

All product, pricing, and other information is valid for U.S. customers and U.S. addresses only, and is based on the latest information available and may be subject to change. Dell reserves the right to cancel quotes and orders arising from pricing or other errors. Please indicate any tax-exempt status on your PO, and fax your exemption certificate, including your Customer Number, to the Dell Tax Department at 800-433-9023. Please ensure that your tax-exemption certificate reflects the correct Dell entity name: Dell Marketing L.P.

Note: All tax quoted above is an estimate; final taxes will be listed on the invoice.

If you have any questions regarding tax please send an e-mail to Tax\_Department@dell.com.

For certain products shipped to end-users in California, a State Environmental Fee will be applied to your invoice. Dell encourages customers to dispose of electronic equipment properly.